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GENERAL INSTRUCTION TO THE EXAMINEES:
1. TRIETTfT gdyed 31U U UF WR AMMih Jf-raria: ford |

Candidate must write first his/her Roll No. on the question paper compulsorily.
2. 941 ge o @rfvard 7|

All the questions are compulasory.

3. AP YT BT SR ol s SR e H & ford |

Write the answer to each question in the given answer book only.
4. 59 gedl # R WS & S 99 & IR Ud A & ford |
For questions having more than one part the answers to those parts are to be
written together in continuity.
5. U9 U9 & fal W 3l ®URRY H &l UeR @ Ffe/ R /R g R 2=
AT & Y9 P FEl 7 |

If there is any error/difference/contradiction in Hindi & English version of the
question paper, the question of the Hindi version should be treated valid.

gug — (31)
SCETION-(A)
1. 9gfddedl ueT —
Multiple Choice Question —
() e srfer @1 favy Al =8 ' — (1)
(@1) fefa =R (d) ISR wR
(%) garemifcr () AT @ gfeh e

Which of the following is not a subject matter of Macro-Economics-
(A) Output Level (B) Employment Level
(C) Inflation (D) Demand & supply Equilibrium
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(i) /1 H ¥ YOI TR BT ISR 8l o— (1)
(31) 7= (@) 3R
(4) BRel HFYER (]) ™
Which of the following is not an example of capital good-
(A) Machines (B) Equipment
(C) Domestic Computers (D) Warehouse

(i) NNP ¥ T M & — (1)

(31) ISR BIHT WR Fdhdl IS IUTE
(@) HEF AN W) Hhel MG TS
(d) IoIR DHIAd R g IS Il
(®) AEE AN R Yg IS AT
Meaning of NNPyp is -

(A) Gross National product of market price
(B) Gross National product of Factor cost
(C) Net National product of market price
(D) Net National product at factor cost

(v) D=Ig &b B WU B9 99 g5 — (1)
(a1) 1935 (@) 1942
(|) 1950 () 1955
In Which year Central Bank was established -
(A) 1935 (B) 1942
(C) 1950 (D) 1955

(v) = 5 ¥ g1 gfd &1 B WU GegdeR & foflt 9e9 aRel 9 A 82— (1)
() M, @) ™,
(&) M; () M,
Which of the following form of money supply is the most liquid and easy to deal with -
(A) My (B) M,
(C) M; (D) M,

(vi) 9§ 9 PN 9ole BT TP UPR B (1)
(31) wgfora st (@) Ry Fre
() =T dole (@) Swa
Which of the following is type of Budget -
(A) Balanced Budget (B) Surplus Budget
(C) Deficit Budget (D) Suitable All

(Vi)  TIH P TERIT BT BRI § — (1)
(1) SrAIAT smagaadar (@) AT aamEE

() STl @ ddfedd YART (3) SHad |+l
Reason for the problem of choice is -

(A) Unlimited Wants (B) Limited Resources
(C) Alternative uses of Resources (D) Suitable All
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(viii)  dCYeIdT 9 / IR I BT STl Bldl o— (1)
(31) arex (@) afasa
() S=Idex (]) oraad
The Slope of Indifference curve is -
(A) Concave (B) Horizontal
(C) Convex (D) Vertical

(ix) e avg # @Wd g 77 & /a9 G g Sr - (1)
(a1) e @) =
() FomHB (3) ST H ¥ Py ol
Relation between price & demand in Giffin Goods is -
(A) Positive (B) Zero
(C) Negative (D) None of the above

(x) T ST BT G — (1)

TP ATP
) 3 @) 7o
(&) APxQ @) Pxa
Formula to find the Marginal Product is -
(W= (B) 5
Q AQ

(C) APXQ (D)PXQ

(xi) 3Id Rer @mTd asb & sMapfa Bl &— (1)
(a1) &tferoirg (d) AFATHR AfTRAY
(4) Seafer (@) I AMHR
The Shape of Average fixed cost curve is -
(A) Horizontal (B) Rectangular Hyperbola
(C) Vertical (D) ‘U’ Shaped

(xii) ITIBIA H B ANTA T ol GRATTN AN & Hed IR BT &— (1)
(@1) TFC (@) AFC
(|) McC (g) AC
In short Run the difference between Total cost and Total variable cost is -
(A) TFC (B) AFC
(C) MC (D) AC

2. Raa I —

Fill in the blanks —
{1 OO ) 11 s = i DN | = e B B ol | 6 LR | S L (1)

.................................... is known as founding father of Modern Economics.

) N AR H T TR BT 2 | (1)

..................................... issues the currency in India.
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(ili) TRHR BT WY AT I8 AT fIR =1 & g 81 1rar g9 &F (1)
FRA D TN, o HEAT & |

The intervention of the Govt. whether to expand demand or reduce.

(v) ST TEIAT TP oo A /IR Y& IR % | (1)
Higher Indifferences curve gives ........ccccoeervevveeeenee. level of satisfaction / utility
(vi) STHBTT H SETET B THT AT oo B B (1)

3. 1 U9l & SN 10—20 Tssi H <IfTu—

Answer the following in 10-20 words —

(i) ‘anfefep Uole’ & o ared 8 ? (1)
What do you mean by ‘Economic Agents’ ?

(i) ‘3ifer ey’ fod Fed ® 2 (1)
What are ‘Final Goods’ ?

(jii) oIS | MY FIT FASI & ? (1)
What do you understand by ‘Depreciation’ ?

(iv) The FETHIY Y@ BT TIE Sqad a7 & 2 (1)
What is the main purpose of holding cash reserve ?

(v) g fafma | ar smeg © ? (1)
What do you mean by Barter System ?

(vi) GoTNTd Ul T ®Ig Udh S&TER0T STy ? (1)
Give any one example of Capital Receipts .

(vii) BT B TR JIH BT A1 fIRag ? (1)

Name the famous book of Keynes .

(viii) DATHT ATTEg TR & AT FI Hewdqul iy fhaes (1)
grRT forg o € 2
Under Central planned Economy, by whom all important decisions are taken by ?

(ix) I I & Dls &l Iarel alfoly | (1)
Give any two examples of Complimentary Goods .

(x) SIS Her B aRaTeT GRTT | (1)

Define Production Function .
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(xi) ST YA @ Ufahel’ | SMY T [ § P (1)

What do you understand by ‘Decreasing Returns to scale’ .
(xii) Iof IRt I9R # ®F @ G FuIfld 9 B BT G qarsd | (1)

Give formula to find out Total Revenue in perfect competitive market .

gvs — (d)
SCETION-(B)

(4) AP BT IATG (GDP) & fATRYT T HTT H T BT FASTSY ? 2)

Explain the relationship between Gross Domestic Product (GDP) distribution and welfare .

(5) I IR BFT W Aol BXe] SHUTE (GDPyp) 310 . & TAT HeIeTd 2)

50 . 8 Al 96IR ST IR Y& ©Ne] ST Bl 0T HIFTY |
If Gross Domestic Product at market price (GDPy;) is 310 Rs. And Depreciation is

50 Rs. Calculate Net Domestic Product (NDP;) .

(6) a%g fafma ugfa @ <1 wfemEdl @ 2 ? faRag | )
What are the two difficulties of Barter System .
(7) IoRA T R GoiNTd I H SR qadrsy ? 2)

Differentiate between Revenue Receipts and Capital Receipts .

(8) afT WRPR T A1 # ghg & TQ A1 39 Reafy # yarsy ama d wi 2)
gRac R ?
If the taxes are increased by the govt. what will be the change in disposable

Income in that case.

(9) TTdSI+® axall d ISl a¥geli ¥ T iR qarsy ? (1+1)
Give two difference between Public goods and Private goods.

(10) Al AT IUHRT YGRT (MPC) 0.6 & AT TRBRI T UId BT A )
ST BT |

Calculate the value of Govt. expenditure multiplier if Marginal Propensity to
Consume (MPC) is 0.6 .
(11) =afte srefeme & uRRwmar farfay | (2)

Define Micro Economics .
(12) ol IUARAT UG A ITART Haell 71 arforat &1 qof HITg—(Ve+ 1+ 14+ =2)

H SUARET (TU) 20 - 53 63 - 76
JHTT SYAAET (MU) 20 18 15 - 8 -
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Complete the following table with respect to Total utility and Marginal utility .

(TU) 20 - 53 63 - 76
(MU) 20 18 15 - 8 -

(13) JTcUdTel G BTl H & 3R qargy ? (1+1=2)
Differentiate between Short run and Long run.

(14) gof ufRera= avg & forg emfm 9% @1 fmfor Hifg | @)
Draw the indifference curve for perfectly substituted good.

(15) qof et aToTR @1 & fsiydr S € ? Ry | @)
What are two characteristic of Perfect Competitive market .

(16) gfet @1 @A @ (o) &1 3 fofRay | (2)

Write the formula for elasticity of supply.

s — (9)
SCETION-(C)
(17) T & 9T UATE I STAERO DI FHAS | (1Va+1%2=3)
Explain circular flow of Income .
31qar
(OR)

TSR 3 0T B fbeal &7 fafeRil &l wse ST |

Explain any two methods of National Income calculation.

(18) dfpTT TR ERT ARA Gold &I UlhaAT BT FHMSY | (3)
Explain credit creation by Banking System.
3AdT
(OR)

HeTl IGa¥T & oIy G&T Bl ART B JTHRT Bl I B |

Explain the concept of Demand for money for speculative motive.

(19) AT ScATEH FHTGHT dgh DI dTfeTd! BT Feradl o forF &1 feuer $HifvTy | (3)

Represent the diagram of Production Possibility Frontier (PPF) with the help of table.

ayerar
(OR)
AMMYS AR TR IRfTawel # S FARIR (gl Q1) & T e UaR

fpar Srar g ?

According to you how does central problems are solved in a Market Economy ? (Any two)
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(20) BT WU BT TR DI dTfeldT T @I & AeIH H FASTRY | (1%2+1%2=3)

Explain the concept of Total Revenue with the help of Table and diagram.

arerar
(OR)
qof UieTel 96T H 3TeUdhTel H T BH &I ™ JATBTHIDBRYT DI FARIT BT NS §RT

AR |

Explain with the help of diagram the problem of profit maximisation of a firm in the short runin a

perfectly competitive market.

gus — ()
SCETION-(D)

(21) 98T & UHI T F1A1 BT g BT | (2+2=4)

Describe the main two functions of Money.

3rerT
(OR)
IR Rord 9@ g1 9a1 gl f=or & <1 Surdl &1 avie S |

Describe two measures of Control of money supply by RBI.

(22) 3ma # URTTH & HRUT goic IC H BIF dTel URIAH BT N@Tfaa (2+2=4)
ERT W< HINTY |

Graphically explain the change in budget set due to changed in income.

Jrerar
(OR)
IERHN Th BT & fARudrel &l X1 & WeRIal | W I |

Explain the two characteristics of the indifference curve with the help of diagram.

(23) BITHHIE WA IATE IH &1 @1 Aigd AT DI | (2+2=4)

Explain law of decreasing marginal product with diagram.

Jrerar
(OR)
BT WA NG 996 G SId AR dhi & AR BT @M §RT T B |

Explain relationship between long run marginal cost curve and average cost curve with the help of

diagram.
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